Folkare BK
Dagbridge 2019-10-28

Partavling, 6 bord, 11 par. Antal brickor: 27. Medel: 107.2. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 11 134.9 62.47  Sven-Olof Gardman - Goran Wreiber 261 13638  Folkare BK
2 12 119.9 55.52  Bo Wiker - Dag Josefsson 4014 51 Fagersta BS - Folkare BK
3 8 117.6 54.47  Margareta Magnell - Irene Axelsson 29520 29519 Folkare BK
4 7 115.8 53.60 Peggy Andersson - Olof Andersson 78948 49473  Folkare BK
5 2 105.8 49.00 Bertil Hedlund - Jonny Nilsson 94101 49620 Folkare BK
6 6 104.8 48.52  Helga Thomas - Anne-Marie Cedergren 29524 91866  Folkare BK
7 9 104.3 48.29  Mats Myrén - Unni-Britt Myrén 30253 31566 Folkare BK
8 1 101.4 46.95  UIf Sundberg - Lars Wohlfart 28528 91890 Folkare BK
9 5 100.9 46.72  Ake Lindqvist - Mait Lindqvist 94104 29508 Folkare BK
10 4 97.8 45.27  Bruno Danielsson - Leif Eriksson 35508 8 Folkare BK
11 3 75.6 35.02  Edvige Torsson - Lena Nilsson 49475 49469  Folkare BK
1 4 Kn984 Basta kontrakt 2 4 EKn107 Basta kontrakt 3 4984 Basta kontrakt
Nord v 87 74 O D -3500 Ost v Kn7 54 S =650 Syd v 109 54 N D -2-300
Ingen ¢ EDKn542 NS + EK10 ov + D10765
*8 & ¢ v aN #Kn932 & ¢ v & NT #DKn10 & ¢ v & NT
.- 4 E1062 N 3 114 118 & K52 4 86 N 116 101110 476 « E105 N9 42094
vKKn1064 v532 S 3 115 128 vK8 v D654 S 116 101110 vKKn42 vD8763 S 94284
+ K63 +10 0101 811 + Kn9874 ¢ D6532 027222 +Kn84 ¢ EK932 O3 9 113 8
#KDKn53 #97642 vV 102 8 1 1 »E104 »87 V27222 #E962 &- vV 3 9 103 8
4 KD753 D943 « KDKn32
vED9 v E10932 vES5
+ 987 .- ¢-
#E10 #KD65 #K87543
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
4 9 44 S+2 K 480 8.0 0.0 6 8 44 N+1 &8 650 8.0 0.0 4 9 44 S= «A 420 8.0 0.0
2 5 5¢N= v5 400 6.0 2.0 2 5 3NN+1 +3 630 6.0 2.0 2 5 44 S-2 *A -100 5.0 3.0
6 8 3¢ N= v5 110 40 4.0 4 9 44 N= +3 620 3.0 5.0 6 8 44 S-2 +8 -100 5.0 3.0
7 12 44 S-1 +K -50 2.0 6.0 7 12 44 S= ¢7 620 3.0 5.0 7 12 3v O+2 &K -200 2.0 6.0
3 11 4v V= ¢ A -420 0.0 8.0 3 11 34 N+1 8 170 0.0 8.0 3 11 4v V= &T -620 0.0 8.0
-1 43 -1 43 -1 43
4 4 Kn872 Basta kontrakt 5 454 Basta kontrakt 6 4 KD2 Basta kontrakt
Vast v74 2NT V =-120 Nord v KKn2 34 O =-140 Ost v KKn754 2NT S =120
Alla + Kn85 NS + KD10987 ov + KD4
#E983 & ¢ v &N #K3 & ¢ v & NT #93 & ¢ v & NT
4 K6 4 ED95 N6 4555 4 EDKn82 4K10976 N9 77 45 49853 4107 N6 7578
vE1096 v852 S6 4555 v 1093 v D84 S97745 v 1032 v E986 S67578
¢+ K973 ¢ D1064 O6 9888 4432 ¢ EKn5 0355097 +3 + E10862 0757565
«D76 *K4 V6982838 *E2 *64 V355097 #K10876 #ED V75755
#1043 43 # EKn64
v KDKn3 vE765 vD
¢ E2 6 + Kn975
#Kn1052 #DKn109875 #Kn542
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
8 12 3NV-1 8 100 7.0 1.0 11 4 44 0-2 ¢5 100 8.0 0.0 5 1 3¢40-3 vQ 300 7.0 1.0
11 4 3NV-1 3 100 7.0 1.0 5 1 4eV-1 +Q 50 5.0 3.0 11 4 2NO-3 vQ 300 7.0 1.0
3 6 2¢V+1 *A -110 4.0 4.0 8 12 44 O-1 +6 50 5.0 3.0 3 6 2NO-2 vQ 200 40 4.0
5 1 2NV= a2 -120 1.0 7.0 3 6 44S-1 aA -100 2.0 6.0 7 9 2NS= +3 120 10 7.0
7 9 INV+1 3 -120 1.0 7.0 7 9 340= +6 -140 0.0 8.0 8 12 INN+1 +6 120 10 7.0
- 2 35 -2 35 - 2 35
7 4 Kn7 Basta kontrakt 8 4 D109865 Basta kontrakt 9 4 KDKn9653 Basta kontrakt
Syd v 8763 44 V =-620 Vast vE1094 74\ D -4 800 Nord vE87 2NT O =-120
Alla +6 Ingen +E8 ov *K
#KD9542 & ¢ v &N &7 & ¢ v & NT »64 & ¢ v & NT
4E105 4D943 N7 2334 a- 4 Kn2 N 4 9 10127 4E10872 «4 N756 65
vEKD  vKn94 S72334 v DKn6 v 872 S 4 9 11127 vKD10 v942 S756 65
¢ Kn742 ¢ ED1053 O 6 119 109 497653 +102 094211 ¢ 762 ¢ ED943 06 87 78
*E63 a7 V 6 119 109 #KKn1096 #ED8432 V94211 #53 #ED92 V68677
& K862 & EK743 a-
v 1052 v K53 v Kn653
+ K9g + KDKn4 + Kn1085
#Kn108 *5 #KKn1087
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
6 2 44 0-1 LX) 100 8.0 0.0 4 7 64 N= «A 980 7.0 1.0 6 2 34N-2 *2 -100 8.0 0.0
4 7 3NV= v8 -600 3.0 5.0 5 11 64 N= «A 980 7.0 1.0 4 7 34 N-3 ¢ A -150 5.0 3.0
5 11 3NV= *Q -600 3.0 5.0 6 2 44 N+2 &A 480 2.0 6.0 12 9 44 N-3 a4 -150 5.0 3.0
8 1 3NV= *4 -600 3.0 5.0 8 1 54 S+1 29 480 2.0 6.0 8 1 34DN-2 v4 -300 2.0 6.0
12 9 3NV= v8 -600 3.0 5.0 12 9 44 N+2 &A 480 2.0 6.0 5 11 34DN-3 +¢A -500 0.0 8.0
- 3 2.0 - 3 2.0 - 3 2.0
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10 4 8764 Basta kontrakt 11 4 ED Basta kontrakt 12 D98 Basta kontrakt
Ost vE72 3NT O =-600 Syd v D75 5v S =450 Vast v53 4v V =-420
Alla + 106 Ingen + K98 NS ¢+ EK
#Kn942 & ¢ v & NT #E10943 & ¢ v & NT #KDKn1096 & ¢ v & NT
«KDKn #E1053 N6 4544 a7 4 KKn98543 N 9 9 118 10 4 EKN10 473 N9 33865
vKn103 v D96 S6 4544 v 103 v 864 S 9 10117 10 vK4 vEKNn109872 S 9 3 3 7 5
¢ E843 ¢ KD9 0796 99 +D10763 +¢5 043253 ¢ Kn642 ¢ D875 O 4 9 104 5
#753 £K106 V78¢6 88 #DKn652 #K7 V43253 #5432 &- V 4 9 105 5
492 41062 & K6542
v K854 v EKKn92 v D6
¢+ Kn752 ¢ EKn42 41093
#EDS8 »8 »E87
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
7 3 340-1 v4 100 8.0 0.0 7 3 4v S+1 +3 450 8.0 0.0 7 3 3&N= vA 110 8.0 0.0
9 2 2NO= v4 -120 6.0 2.0 5 8 4v S= a7 420 6.0 2.0 6 11 4v0O-1 &A 50 6.0 2.0
1 12 INV+2 »2 -150 3.0 5.0 1 12 4vS-1 a7 -50 2.0 6.0 5 8 34S-1 vK -100 4.0 4.0
5 8 2NO+1 v5 -150 3.0 5.0 6 11 4v S-1 a7 -50 2.0 6.0 1 12 44 S-2 vK -200 2.0 6.0
6 11 3NV= »2 -600 0.0 8.0 9 2 4vS-1 a7 -50 2.0 6.0 9 2 4v 0= SA -420 0.0 8.0
- 4 3.9 - 4 3.9 - 4 3.9
13 o E Basta kontrakt 14 4 Kn2 Basta kontrakt 15 4 862 Basta kontrakt
Nord v Kn2 INT N =2220 Ost v EDKn3 34 O =-140 Syd v D92 2NTV =-120
Alla ¢ EKn1075432 Ingen 4982 NS + K1074
#K10 & ¢ v & NT #KD76 & ¢ v & NT #D86 & ¢ v & NT
4 Kn108764 & D932 N 1213106 13 4109853 «KD74 N8 4846 4 E10943 & KDKn5 N58855
vD v 876543 S 1213106 13 v 765 vK9 S 84846 v6 v KKn10 S588565
+ K9 + 86 010260 ¢ Kn7 ¢ ED543 059597 495 ¢ DKn3 075588
#DKn76 &4 V10260 &E94 #Kn8 V59597 #K9752  #Knl103 V75588
4 K5 4 E6 a7
v EK109 v 10842 v E87543
+D + K106 + E862
#E98532 #10532 »E4
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
1 3 3NS+4 a4 720 8.0 0.0 2 12 44 V-1 a2 50 7.0 1.0 1 3 2vS+l 43 140 8.0 0.0
8 4 3NS+3 aJ 690 6.0 2.0 8 4 3+V-1 *K 50 7.0 1.0 6 9 3vS-1 4 A -100 6.0 2.0
2 12 5¢ N+2 LY 640 3.0 5.0 1 3 16 O+4+2 &A -110 4.0 4.0 8 4 3aV= vQ -140 4.0 4.0
11 7 5¢ N+2 «Q 640 3.0 5.0 11 7 34 V= &K -140 2.0 6.0 2 12 24 V+2 vQ -170 1.0 7.0
6 9 5¢ N= *4 600 0.0 8.0 6 9 4e V= vA -420 0.0 8.0 11 7 34 V+1 vQ -170 1.0 7.0
- 5 3.8 - 5 3.8 - 5 3.8
16 & EKKNn8432 Bésta kontrakt 17 & KD965 Bésta kontrakt 18 » KKn986 Bésta kontrakt
Vast v 543 4v ND-1-100 Nord v 65 7v O =-1510 Ost vK3 2v O =-110
ov + Kn8 Ingen + D85 NS 4982
*K & ¢ v & NT +D103 & ¢ v & NT #1092 & ¢ v & NT
475 «D9 N339714 4 E732 410 N25043 «D2 « E10754 N7 856 6
v10 vE96 S33974 vKDKn87 vE942 S25043 vE1054 v DKn86 S77566
¢ EK107 49432 O 10104 4 6 ¢ 64 ¢ EKKn O 117 139 10 ¢+ KKn64 ¢ 10 06 586 7
#Kn109632 #ED75 V 10104 4 6 &Kn2 #E9654 V 117 139 10 843 2KD6 V658867
4106 4 Kn84 3
v KDKn872 v 103 v 972
+ D65 4109732 + ED753
»84 »K87 #EKn75
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
7 1 44 N= 2 420 7.0 1.0 12 3 3v V+l v6 -170 8.0 0.0 9 5 3vV-2 49 100 7.0 1.0
9 5 44 N= ¢4 420 7.0 1.0 2 4 4v O+1 44 -450 6.0 2.0 12 3 3v0-2 3 100 7.0 1.0
12 3 5&V-1 & A 100 40 4.0 7 1 4v V+2 &K -480 4.0 4.0 2 4 3vV-1 &T 50 2.0 6.0
8 11 44 N-1 &A -50 2.0 6.0 8 11 4vy O+3 & -510 1.0 7.0 7 1 3vV-1 +9 50 2.0 6.0
2 4 4eV-= a A -130 0.0 8.0 9 5 4v0+3 ¢2 -510 1.0 7.0 8 11 3vO-1 ¢ A 50 2.0 6.0
- 6 3.6 - 6 3.6 - 6 3.6
19 4962 Bésta kontrakt 20 #9863 Bésta kontrakt 21 495 Bésta kontrakt
Syd v D865 3# SD-1-100 Vast vD1062 INTV =-2220 Nord v 83 2v O =-110
oV + ED53 Alla 462 NS + K6532
#98 & ¢ v & NT *K63 & ¢ v & NT #KKn43 & ¢ v & NT
4854 «4KKn1073 N 8 7 8 5 6 «E107 & KDKn5 N506 00 # 832 » EK76 N7 8565
vEKNn104 ¢92 S87 856 vES8 vK5 S50600 vDKn1065 v942 S78565
+ 108 ¢ KKn62 056586 ¢+ KKn75 ¢ED10943 O 8 137 1313 ¢+ E9 ¢+ D74 O55 86 6
#K1073 %42 V56586©6 #8742  #E V 8 137 1313 #ED10 #9082 V65867
«ED 842 « DKn104
v K73 vKn9743 v EK7
¢+ 974 +8 + Kn108
#EDKnNG5 #DKn1095 #765
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
8 2 24S= *T 90 8.0 0.0 1 6 44 0+3 ¢8 -710 7.0 1.0 8 2 3vV-2 +3 100 8.0 0.0
1 6 2NS-1 vT -50 6.0 2.0 8 2 44 0+3 £Q -710 7.0 1.0 1 6 2vV= 49 -110 4.0 4.0
4 12 3NS-2 v4 -100 4.0 4.0 4 12 6¢ V+1 v2 -1390 4.0 4.0 3 5 2vV= +3 -110 4.0 4.0
3 5 3&#N-3 v2 -150 1.0 7.0 3 5 640+1 &5 -1460 2.0 6.0 4 12 2v V= ¢+ 4 -110 4.0 4.0
9 11 3NS-3 8 -150 1.0 7.0 9 11 6NV +1 vT -1470 0.0 80 9 11 2v V+1 v3 -140 0.0 8.0
-7 4.0 -7 4.0 -7 4.0
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22 475 Basta kontrakt 23 4 Kn102 Basta kontrakt 24 4 EKKn108 Basta kontrakt
Ost v Kn98 34 O =-140 Syd v K98 3NT S =600 Vast vD3 46 N =420
ov + K987 Alla + E103 Ingen + DKn9
#K1065 & ¢ v & NT #9742 & ¢ v & NT K86 & ¢ v & NT
4 DKnl108 4962 N55 445 48543 & D96 N9 9999 aD54 432 N9 8 7 109
v ED54 v K106 S55445 v532 vEKNn76 S999 909 v954  vK10762 S 88 7 109
+43 ¢+ EDKn10 O7 8898 + D854 ¢ Kn9 O4 4 4 4 4 48432 ¢ EK7 0456 33
&DKn9 &332 V78898 &#Kn8  #K1053 V 4 43 44 &#EKN3 #975 V456 34
& EK43 & EK7 4976
v732 v D104 v EKn8
¢ 652 + K762 + 1065
&E74 &ED6 #D1042
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 6 2¢ V= a7 -90 8.0 0.0 2 7 3NN= v6 600 6.0 2.0 11 1 24 N+2 ¢A 170 8.0 0.0
2 7 3vV= +9 -140 5.0 3.0 5 12 3NN= v6 600 6.0 2.0 2 7 3v0O-3 49 150 50 3.0
9 3 3aV= &T -140 5.0 3.0 11 1 3NN= v5 600 6.0 2.0 5 12 INN+2 v6 150 50 3.0
11 1 INV+2 &J -150 2.0 6.0 4 6 INS+4 *4 210 2.0 6.0 9 3 24 N+1 ¢A 140 2.0 6.0
5 12 INO+3 46 -180 0.0 8.0 9 3 3NS-1 *4 -100 0.0 8.0 4 6 INN= A 90 0.0 8.0
- 8 4.2 - 8 4.2 - 8 4.2
25 s E7 Basta kontrakt 26 49742 Basta kontrakt 27 4 KD98765 Basta kontrakt
Nord v2 6¢ N =920 Ost v KDKn8 44 S =620 Syd v K95 44V =-130
ov + EK864 Alla +6 Ingen ¢+ E43
&EK1085 & ¢ v & NT &E954 & ¢ v & NT &»- & ¢ v & NT
4 Knl043 &652 N 1012101010 4E53 &K N6 7 8 106 a- & Kn1043 N3 5588
v D965 v KKn3 S 1012101010 v754 vE32 S 6 7 8 106 vEDKNn872 v- S26588
¢+ DKn + 1072 031333 49532 ¢ DKn87 O76 436 + Kn96 + KD8 O 106 8 4 5
&D43 #Kn962 V31333 &#D76 &KKnl032 V 7 6 4 3 6 #8632 &#EKN10975 V 106 8 5 5
4 KD98 4 DKn1086 aE2
v E10874 v 1096 v 10643
¢ 953 + EK104 ¢+ 10752
a7 &8 &KD4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 6 3NS+3 a3 490 8.0 0.0 12 6 44 S= &Q 620 8.0 0.0 1 4 44DN= &A 590 8.0 0.0
2 11 3NN+1 46 430 6.0 2.0 5 7 3¢V-3 vQ 300 6.0 2.0 12 6 44D O-1 #A 100 6.0 2.0
5 7 3NN= &2 400 4.0 4.0 3 8 2¢0-2 &8 200 4.0 4.0 2 11 24 N-1 &A 50 4.0 4.0
1 4 46 N+2 a2 170 2.0 6.0 1 4 34 S+l *2 170 2.0 6.0 3 8 44 N-2 +K -100 2.0 6.0
3 8 1laN+2 *T 110 0.0 8.0 2 11 24 0= «Q -90 0.0 8.0 5 7 4640= s A -130 0.0 8.0
-9 3.8 -9 3.8 -9 3.8
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